Solid Net Formula Surface Area Formula

6 equal squares Ar = 632

Cube 2 T=
A=s
Rectangular Prism I 1 Lateral Area: 2 pairs of rectangles
: A= Pb X h
Base(s): 1 pair of rectagles
; e Top & Bottom
I Ap=Lxw Ar=2A,+ A,
OR
A Lateral Area: 3 rectangles AT = ZAb + Pb X h

Triangular N B c (they are not always the same size)
Prism A= Py xh

Base(s): 2 equal triangles (they

are congruent)
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Pyramid /| \ < Lateral Area: 4 equal triangles T b L
) V Pp x5l
v A= 2 OR
Triangular Base: 1 bace: A
square base: A=lxw
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Surface Area Formula

° Lateral area: 1 Rectangle AT - ZAb + AL
. LA = 21trh
Cylinder OR
Y 2
Bases.2C|r:Ie_s , AT = 2T[I" + 2T[I"h
= @mr
Surface Area = 4mr? 5
Sphere AT = 4nr
Lateral Area:
Con
one A, = s AT=AB+AL
or or

et

A.. tr(r + J r2 + h?)

Base: 1 circle
A= mr?

2
Ar=mr + nrs
or

Ar = 1r(r +r2 + b




